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https://www.100test.com/kao_ti2020/8/2021_2022__E5_90_AC_E5

_8A_9B_E7_9C_9F_E9_c5_8717.htm Section 1 第一段: 大约是一

个老太太被人抢了,警察对一个目击者(also old woman)调查 对

话.忘了 cenima | West Street

|------------------------------------------ ----------------------证人

位置 受害者位置?---------------------------------------|

|-------------------- bank libraryquestions: 受害者被抢位置? 我听

的好象在library前. 罪犯同伙开车接应地点? 似乎是West Street. 

老太太情况? 选择有(未受伤),(受伤),(upset),我听的似乎是受

伤, 肯定不是upset. 目击者行动?(追罪犯),(报警),(检查老太太

的情况),我选追罪犯. bag内2个物品?(purse),($50),(door key),...,

我选前两个. 两个罪犯特征?一张表,若干问题,年龄,高矮,头发

颜色,特征等,比较有把握的是第二个罪犯的年龄35,特征

是scar.lt；有关风的什么lt；发动机的efficiency) 怎么解决?忘了 

一张表,另外3个人的研究,那里人?,, 遇到什么问题?谁出钱?is

telling the story of Wrighters Brother. Wrighters Brother record

cancompare the data and found it was completely wrong. They

solved two problems:Wind Design by using wind tunnels, and

second problem I can’t remember. Atsame time in Sydney and

New Zealand there are similar experiments.Section 4 is about

planning the trees. Firstly tell about the benefits of tree: reducewindy,

maintain humid, less dangerous etc. It keeps temperature below

20centigrade. It keeps low noise frequency pass through. It

evaporates water. Theethree factors for tree evaporation are sunlight,

water and room to grow.第四段: plant 对城市的作用.可以降低风



速,影响湿度等.比较简单总的感觉:似乎不比东方的听力磁带

更难,很清楚,也没听出什么口音. 100Test 下载频道开通，各类

考试题目直接下载。详细请访问 www.100test.com 


